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o= 38,883,572 38,582,219 301,353
= 15,226,205 15,207,811 18,394
s 382,000 382,000 0
Il 341,438 333, 191 8,247
= 1,509,422 1,631,382 A121,960
= 5,738,704 5,735,078 3,626
Al 15,685,803 15,292,757 393,046
=X & ESIHE N3 32,038,248 31,604,246 434,002
= 14,546,647 14,391,888 154,759
Il 51,028 45,691 5,337
= 5,045,848 4,975,414 70,434
Al 12,394,725 12,191,253 203,472
&9 AtalE0 = 23,880 24,980 A 1,100
= 2,250 2,250 0
Al 21,630 22,730 A 1,100
HedssEHeY 16,380 17,480 21,100
301 YptEasg 900 1,000 A100
10 EAIAHIE A= 900 1,000 A 100
O==20ZHE &It o4l 2 & 900,000& 900 1,000 A 100
307 212t0l& 9,000 10,000 21,000
02 QItAASE X 9,000 10,000 A 1,000
OUAEXINCK OF3HEI0l 22
Z & 9,000,000& 9,000 10,000 A 1,000
HE2EF 14,240 15,220 A980
HE2s 28 & U= 14,240 15,220 A 980
201 Letg| 9,920 10,420 A500
01 AtE22/Hl 9,920 10,420 A500
O1 get=ZH| 4,500 5,000 A500
DAEHeE It 2% 4,500,000 4,500 5,000 A500
301 LetEas 4,320 4,800 A 480
10 SAHAHIEA S 4,320 4,800 2480
OOEMY SHBS =7 Abl B
23 4,320,000 4,320 4,800 A480
IE=X S 677,540 663,536 14,004
= 306,912 297,266 9,646
= 122,894 121,651 1,243
Al 247,734 244,619 3,115
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2 72,800 61,880 10,920
= 9,360 7,956 1,404
Al 21,840 18,564 3,276
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=2 72,800 61,880 10,920
= 9,360 7,956 1,404
Al 21,840 18,564 3,276
02 B2FAEE 104,000 88,400 15,600
OotoIE =20l X 23 104,000,0002 104,000 88,400 15,600
= 72,800 61,880 10,920
= 9,360 7,956 1,404
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= 78,387 65,971 12,416
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OJIEZe g2 sgags 29
23 100,558,000 100,558 95,558 5,000
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= 82,992 0 82,992
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= 82,992 0 82,992
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= 82,544 82,544 0
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10 SAHAHIEA S 450 500 A50
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02 DIHABE 205,920 151,200 54,720
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= 1,509,422 1,631,382 ~ 121,960
< 614,446 681,254 66,808
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OZAX, 0L BHoole AL &4
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250ts =8| 5,130 5,700 A570
= 1,710 1,710 0
Al 3,420 3,990 A570
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Al 3,420 3,990 A570
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Al 3,420 3,990 A570
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= 495 40,800 A40,305
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Al 1,155 95,200 94,045
ZA0LS B4 BAIE X2 165,780 0 165,780
2 165,780 0 165,780
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202 O4Hl 9,940 11,040 21,100
01 =Wl 9,940 11,040 A 1,100
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